AP Calculus AB
Unit 3 — Day 1 — Assignment
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In the table below, a function is given. Show the algebraic analysis that leads to the derivative of
the function. Find the derivative by the specified method.
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Rewrite f{x) as a polynomial
first. Then apply the power rule
to find £ '(x).

[$160=2- 2x-b)

2.

f(x)= (x2 + 2xkx — 3)

Apply the product rule to find

£ )= (2 D-F) 4 (4291

= 2C-UrA 24 P 2%

J(x)-

)

= 2%l |

For exercises 3 — 5, find the derivative of each function.

3. f(x) = (x2 + 2Ix2 ;2x)
P00z 20020 + (G d)

. &3,%% > %"’www

™ —
Pyt |

5. f(x):%[;(xz +4) ;
=% " (%)

£00= ﬁ?’i}mw’)t (X
5

4. f(x)= (x3 - 3xX2x2 +3x+ 5)

£ = (@ NEIY + ¢
Wt B ISR -2 1S

F\B\C* X P 2k~ 1S

|

saiirima st

':]za’\‘ ﬁ
g3 R”

e
TR

3>< + 243

| Bl
bt - X9 @% . * B



Yy

Find th¢'slope of the normal line drgwn to the graph of each function at the indicated value of x.
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For each of the functions below, find the equation of the tan‘gglt‘ﬁ@awn to the graph of g(x)
at the indicated value of x.
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8. g(x)= x/;c(2x2 —4) when x=4 0. g(x)=x"cosx whenx=
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Use the table below to complete exercises 10 — 12.
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10. If 7 (x) - 2/(x)-g(x), what is the

equation of th hen x = -17?
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11. If.J(x) = g(x)-sin x, what is the value of
J0)?
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12. If K(x) = (4x - f(x)X2g(x) - 2), what is théslope of the normal lin®>when x = —27?
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